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	 1-	^;Fkk'kfDr* esa dkSu&lk lekl gS\

	 (a)	 deZ/kj; 	 (b)	 cgqczhfg

	 (c)	 vO;;hHkko	 (d) 	f}xq

	 2-	fuEufyf[kr esa ls ^dke* ds fy;s dkSu&lk 'kCn iz;qDr 
ugha gksrk\

	 (a)	 dkeuk	 (b)	 dk;Z

	 (c)	 LoHkko	 (d) 	bPNk

	 3-	ftthfo"kk dk vFkZ gS

	 (a)	 thrus dh bPNk	 (b)	 thus dh bPNk

	 (c)	 ijksidkj dh bPNk	 (d) 	;q¼ dh bPNk

	 4-	^leok;* 'kCn dk vFkZ gS

	 (a)	 lewg	 (b)	 leO;Ld

	 (c)	 vPNk le;	 (d) 	leku ok;q

	 5-	iq#"kokph loZukeksa ds fo"k; esa fn;s x;s fuEufyf[kr 
dFkuksa esa dkSu&lk dFku lgh ugha gS\

	 (a)	 ^og* dk iz;ksx iqfYyax] Lkzhfyax nksuksa esa gks 
ldrk gS

	 (b)	 ^gea mÙke iq#"k deZdkjd dk cgqopuh; :i gS

	 (c)	 lEcU/dkjd esa ^eSa* dk lgh :i ^esjs dks* 
gksrk gS

	 (d) 	̂;g* ds lkFk ^us* dk iz;ksx lEHko ugha gS

	 6-	fuEufyf[kr fgUnh o.kks esa ls ^v;ksxokg* dkSu&lk 
o.kZ gS\

	 (a)	 ^m*] ^Å*	 (b)	 ^v*] ^v%*

	 (c)	 ^vk*] ^vks*	 (d) 	̂,*] ^,s*

	 7-	fuEufyf[kr o.kk±s esa dkSu&lk o.kZ ew/ZU; ugha gS\

	 (a)	 ^t*	 (b)	 ^V*

	 (c)	 ^M*	 (d) 	̂B*

	 8-	^vkB dukSft;k ukS pwYgs* yksdksfDr dk vFkZ gS\

	 (a)	 vf/d O;fDr gksus ls dke fcxM+uk

	 (b)	 vyxko dh fLFkfr

	 (c)	 [kjkc [kkuk cukuk

	 (d) 	vko';drk ls vf/d lkeku dk gksuk

iz'u la[;k 9 ls 13 ds fy;s%
v/ksfyf[kr x|ka'k dks è;ku ls if<+, rFkk iz'u la[;k 9 

ls 13 ds mkj bl x|ka'k ds vk/kj ij nhft;sA

¶/eZ euq"; ds Hkhrj fufgr nsoRo dk fodkl gSA¸ ¶èkeZ 
u rks iqLrdksa esa gS] u /kfeZd fl¼karksa esaA og dsoy vuqHkwfr esa 
fuokl djrk gSA¸ ¶/eZ vU/fo'okl ugha gS] /eZ vykSfddrk 
eas ugha gS] og thou dk vR;Ur LokHkkfor rÙo gSA¸ euq"; esa 
iw.kZrk dh bPNk gS] vuUr thou dh dkeuk gS] Kku vkSj vkuUn 
izkIr djus dh pkg gSA iw.kZrk] Kku vkSj vkuUn ;s fupys Lrj 

ij ugha gSa] mudh [kkst thou ds mPp Lrj ij dh tkuh pkfg;sA 
tgk¡ Å¡pk Lrj vkrk gS] ogha /eZ dk vkjaHk gksrk gSA thou dk 
Lrj tgk¡ ghu gS] bfUnz;ksa dk vkuUn ogha vR;ar iz[kj gksrk gSA 

	 9-	/eZ euq"; esa fdldk fodkl djrk gS\

	 (a)	 nsoR; dk

	 (b)	 izÑfr dk

	 (c)	 O;fDrRo dk

	 (d) 	?keaM dk

	10-	/eZ dgk¡ fuokl djrk gS\

	 (a)	 lekt esa

	 (b)	 jk"Vª esa

	 (c)	 vuqHkwfr esa

	 (d) 	mi;qZDr esa ls fdlh esa ugha

	11-	bfUnz;ksa dk vkuUn dgk¡ ij iz[kj gksrk gS\

	 (a)	 tgk¡ vPNkbZ;k¡ gksa

	 (b)	 tgk¡ thou dk mPp Lrj ugha gS

	 (c)	 LoxZ esa

	 (d) 	udZ esa

	 12-	thou ds mPp Lrj ij igq¡pus ds fy;s fdu rRoksa dh 
vko';drk gksrh gS\

	 (a)	 iSlk] lq[k vkSj izse

	 (b)	 izse vkSj ln~Hkko dh Hkkouk

	 (c)	 iw.kZrk] Kku vkSj vkuUn

	 (d) 	buesa ls dksbZ ugha

	13-	mi;qZDr x|ka'k dk mfpr 'kh"kZd D;k gks ldrk gS\

	 (a)	 vkilh ln~Hkko dk Lo:i

	 (b)	 deZ dk Lo:i

	 (c)	 lq[k dk Lo:i

	 (d) 	/eZ dk Lo:i

	14-	^ifjrki* 'kCn dk vFkZ gS

	 (a)	 tyu	 (b)	 Tokyk

	 (c)	 izek.k	 (d) 	larki

	15-	^dHkh u dHkh* esa dkSu&lk fØ;kfo'ks"k.k gS\

	 (a)	 ;kSfxd 

	 (b)	 ewy

	 (c)	 LFkkuh;

	 (d) 	mi;qZDr esa ls dksbZ ugha

	16-	fuEufyf[kr esa foo`Ùk Loj gS

	 (a)	 ^bZ*	 (b)	 ^,s*

	 (c)	 ^Å*	 (d) 	̂vks*
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	17-	fuEufyf[kr okD;ksa esa dkSu&lk okD; fojkefn fpÉ dh 
n`f"V esa 'kq¼ gS\

	 (a)	 Øks/] pkgs tSlk Hkh gksA euq"; dks nqcZy cukrk gSA

	 (b)	 Øks/A pkgs tSlk Hkh gksaA euq"; dks nqcZy cukrk gSA

	 (c)	 Øks/] pkgs tSlk Hkh gks] euq"; dks nqcZy cukrk gSA

	 (d) 	Øks/A pkgs tSlk Hkh gksaA euq"; dks nqcZy cukrk gSA

	18-	txr + bZ'k = txnh'k eas dkSu&lh laf/ gS\

	 (a)	 folxZ laf/

	 (b)	 Loj laf/

	 (c)	 O;atu laf/

	 (d) 	mi;qZDr esa ls dksbZ ugha

	19-	ftl ewy 'kCn esa fcdkj gksus ls fØ;k curh gS] mls 
dgrs gSa

	 (a)	 loZuke	 (b)	 fo'ks"k.k

	 (c)	 /krq	 (d) 	izR;;

	20-	^el`.k* 'kCn dk foykse gS

	 (a)	 ^lqdqekj*	 (b)	 ^fpDd.k*

	 (c)	 ^:{k*	 (d) 	̂vLl`.k*
Instruction for Question Nos. 21 to 25:

Read the following passage carefully and answer 
the following questions that follows: 

Educations is device for helping a man to grow to 
his full stature. It enables him t realize his nature both 
mentally and spiritually and in that realization to become 
all that he has it in him to be. It is to the child what perfect 
gardening is to the tree a help so to grow that it may 
develop its own personality. A good gardener helps each 
plant to put forth that essential quality of its own that 
differentiates it from all other plants and makes it a thing 
of use and beauty in the world. The good education 
performs a simillar office for the human being.

To the man of trained faculties and developed tastes 
the world becomes literally a large place, larger and the 
more exching. Hesable to see in it more beauty, more 
variety, more scope for his sympathy and understanding 
than he saw before. So far as the understanding of the 
universe is concerned while education diminshes 
certainly of what is it widens his sense of the possibillities 
of what may be and transforms the world from humdrum 
scene of workshop, factory and office to universe of 
mystery and treasure house of beauty.
	 21. 	Education enables a man
	 (a) 	 To realize his nature both mentally and 

spiritually
	 (b) 	 To become a gardener
	 (c) 	 To be physically strong
	 (d) 	 To become a successful person

	 22. 	What an educated man is able to see in the world?
	 (a) 	 Mountains, hills and bushes
	 (b) 	 Roads, meadows and inns
	 (c) 	 More beauty, more varlety, more scope for 

his sympathy and understanding than he saw 
before 

	 (d) 	 Rivers, lakes and rocks
	 23. 	The passage "universe of mystery and a treasure 

house of beauty" means
	 (a) 	 Helping a man to develop the best in him
	 (b) 	 Universe full mysterious and beautiful things
	 (c) 	 Education of universe makes a man wise 

and beautiful
	 (d) 	 Education of universe makes him bounteous 

and large hearted
	 24. 	What is the work of a good gardener?
	 (a) 	 To help each plant to take water
	 (b) 	 To help each plant to put forth the essental 

quality of its own
	 (c) 	 To help each plant to grow
	 (d) 	 To help each plant to be green and healthy
	 25. 	The world becomes a larger place and the more 

exciting.
	 (a) 	 For a wrestler
	 (b) 	 For a thief
	 (c) 	 For a cheat
	 (d) 	 For a man of trained faculties and developed 

tastes
	 26. 	In the sentence, "he finished the job at one go", the 

word 'go' is
	 (a) 	 Verb	 (b) 	Noun
	 (c) 	 Adverb	 (d) 	Adjective
	 27. 	Change the sentence "I never eat meat, he 

explained" into indirect speech.
	 (a) 	 He explains that i eat meat
	 (b) 	 He explained to eat meat
	 (c) 	 He explained that he never ate meat
	 (d) 	 I explained that he never eats meat
	 28. 	The word 'rendezvous' means
	 (a) 	 Endeavour
	 (b) 	 A place appointed for a meeting
	 (c) 	 A secret place
	 (d) 	 Adventure
	 29. 	Which of the following word is wrongly speit?
	 (a) 	 Correspondence	 (b) 	Conscience
	 (c) 	 Occurrence	 (d) 	Conveneince
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	 30. 	Change the sentence 'let it be done at once' into 
active voice.

	 (a) 	 Let it happen at once
	 (b) 	 Do it atleast once
	 (c) 	 Let i occur at once
	 (d) 	 Do it at once
	 31. 	Punctuate the following sentence "Whatever is is 

right"
	 (a) 	 Whatever, is Is right?
	 (b) 	 Whatever, Is is right
	 (c) 	 Whatever is, is right
	 (d) 	 Whatever, is, is right
	 32. 	Choose the correct conjuction from the following 

options to complete the sentence:
		  "He got_______________he was iII".
	 (a) 	 Untl	 (b) 	Because
	 (c) 	 Although	 (d) 	It

	 36.	 Which of the following is NOT an interpersonal 
barrier in organizational communication?

	 (a)	 Ethnocentrism
	 (b)	 Semantics
	 (c)	 Ingratiation
	 (d)	 Impression management
	 37.	 Highest degree of communication openness is 

found in
	 (a)	 Informal communication
	 (b)	 Meta-communication
 	 (c)	 Direct communication
 	 (d)	 Indirect communication
	 38.	 Which one of the following behaviour is the most 

appropriate for diffusing verbal abuse of co-
workers?

	 (a)	 Become defensive
	 (b)	 Get into debate
	 (c)	 Refuse to accept harmful language
	 (d)	 Keep aggressive body language
	 39.	 'Proxemics' is related to
	 (a)	 Neutral Communication
	 (b)	 Unidirectional Communication
	 (c)	 Verbal Communication
	 (d)	 Non-verbal Communication
	 40.	 The key element for effective interpersonal 

communication is
	 (a)	 Abstraction
	 (b)	 De-sensitization
	 (c)	 Active listening
	 (d)	 Ego-centric reinforcement

	 33. 	"White elephant" means
	 (a) 	 A rare object
	 (b) 	 An uneconomical possession
	 (c) 	 An object that does not exist
	 (d) 	 A useful possession
	 34. 	Choose the correct synonym of the word 

'abominable'.
	 (a) 	 Disgusting
	 (b) 	 Cold
	 (c) 	 Abusive
	 (d) 	 Hot
	 35. 	'In the pipeline' means
	 (a) 	 In the process of being developed
	 (b) 	 Partake
	 (c) 	 Pinnacle
	 (d) 	 Prions

	36-	laxBukRed lEçs"k.k esa fuEufyf•r esa ls dkSu&lk 
vUrjoS;fDrd vojks/ ugha gS\

	 (a)	 çtkfr dsafærk	 (b)	 vFkkZRedrk

	 (c)	 vuqxzg.k	 (d)	 Nfo çca/u

	37-	lEçs"k.k fu"diVrk dk mPpre va'k ik;k tkrk gSA

	 (a)	 vukSipkfjd lEçs"k.k esa

	 (b)	 esVk&lEçs"k.k esa

	 (c)	 çR;{k lEçs"k.k esa

	 (d)	 vçR;{k lEçs"k.k esa

	 38-	fuEufyf•r esa ls dkSu&lk O;ogkj lgdfeZ;ksa ds 'kkfCnd 
vi'kCn dks frrj&fcrj djus esa lokZf/d mi;qDr gS\

	 (a)	 j{kkRed gks tkuk

	 (b)	 okn fookn esa iM+uk

	 (c)	 gkfudkjd Hkk"kk dks Lohdkj djus ls badkj

	 (d)	 vkØked nsg Hkk"kk cuk;s j•uk

	39-	^lkehI;* (çksDlsfeDl) lEcfU/r gS

	 (a)	 rVLFk lEçs"k.k ls

	 (b)	 ,d fn'kksUeq• lEçs"k.k ls

	 (c)	 'kkfCnd lEçs"k.k ls

	 (d)	 v'kkfCnd lEçs"k.k ls

	40-	çHkkoh varjoS;fDrd lEçs"k.k dk eq[; rÙo gS

	 (a)	 vewrZrk

	 (b)	 folaosnhdj.k

	 (c)	 lfØ; Jo.k

	 (d)	 vkRedsfUær lqn`<+hdj.k
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	41-	fuEufyf•r esa ls dkSu&lk laxBukRed ikfjfLFkfrdh ls 
lacaf/r gS \

	 (a)	 dsaæhÑr lEçs"k.k

	 (b)	 ÅèoZxkeh lEçs"k.k

	 (c)	 ikf'oZd lEçs"k.k

	 (d)	 v/ksxkeh lEçs"k.k

	42-	fdlh ijh{kk esa mÙkh.kZ gq, yksxksa esa fLerk dk Åij ls 
LFkku 16ok¡ rFkk uhps ls 29ok¡ FkkA N% Nk=kksa us ijh{kk 
NksM+ fn;k vkSj 5 Nk=k mlesa vuqÙkh.kZ jgsA d{kk esa dqy 
fdrus Nk=k Fks\

	 (a)	 40	 (b)	 44
	 (c)	 50	 (d)	 55

	43-	jfo us iwoZ dh vksj pyuk çkjaHk fd;k] 1 fd-eh- pyus 
ds mijkar og nf{k.k dh rjiQ eqM+ tkrk gS vkSj 5 
fd-eh- pyrk gSA iqu% og iwoZ dh rjiQ eqM+rk gS vkSj 
2 fd-eh- pyrk gSA vafre ckj og mÙkj dh rjiQ eqM+rk 
gS vkSj 9 fd-eh- pyrk gSA vius çkjfEHkd fcanq ls og 
fdruh nwjh ij gS\

	 (b)	 5 fd-eh- 	 (d)	 3 fd-eh-

	 (a)	 7 fd-eh- 	 (c)	 4 fd-eh-

	44-	fuEufyf•r esa ls dkSu&lk js•kfp=k ^'kjhj*] ^dku*] 
^eq¡g* ds laca/ dks lgh rjhds ls O;Dr djrk gS\

	 (a)	 	 (b)	

	 (c)	 	 (d)	

	45-	pkj iq#"k A] B] C] D ,oa pkj efgyk,¡ W] X] Y] 
Z ,d est ds pkjksa rjiQ ,d nwljs dh rjiQ eq¡g fd;s 
cSBs gSaA ;fn

	 i.	 dksbZ Hkh nks iq#"k vFkok efgyk lkFk&lkFk ugha 
cSBs gSaA

	 ii.	  W, B ds nkfgus rjiQ cSBh gSA

	 iii.	 Y, X ds lkeus rFkk A ds ck;ha rjiQ cSBh gSA

	 iv.	 C, Z ds nkfgus rjiQ cSBk gSA

	 	rks os nks dkSu gSa] tks D ds nksuksa vksj cSBs gSa\
	 (a)	 W rFkk Y	 (c)	 X rFkk Z

	 (b)	 X rFkk W	 (d)	 W rFkk Z

	46-	fdlh fuf'pr dwV Hkk"kk esa 15789 dks XTZAL vkSj 
2346 dks NPSU ds :i esa fy•k x;k gSA mlh dwV 
Hkk"kk esa 23549 dks fdl çdkj fy•k tk;sxk\

	 (a)	 NPTUL	 (b)	 PNTSL

	 (c)	 NPTSL	 (d)	 NBTSL

	 41.	 Which one of the following is related with 
organisational ecology?

	 (a)	 Centralized Communication
	 (b)	 Upward Communication
	 (c)	 Lateral Communication
	 (d)	 Downward Communication
	 42.	 Smita reckoned sixteenth from the top and twenty-

ninth from the bottom among those who have 
passed an examination. Six students did not appear 
in the examination and five failed in it. How many 
students were there in the class?

	 (a)	 40	 (b)	 44
	 (c)	 50	 (d)	 55
	 43.	 Ravi started walking towards East. After moving 

a distance of 1 km, he turned Southwards and 
walked 5 km. Again he turned to East and walked 
2 km. Finally he turned to the North and walked 9 
km. How far is he from his starting point?

	 (a)	 7 km	 (b)	 5 km 
	 (c)	 4 km	 (d)	 3 km
	 44.	 Which one of the following diagrams properly 

represents the relationship among 'Body', 'Ear', 
'Mouth' ?

	 (a)	 	 (b)	

	 (c)	 	 (d)	

	 45.	 Four men A, B, C, D and four women W, X, Y, Z 
are sitting around a table facing each other. If

	 i.	 No two men or women are sitting together.
	  ii.	 W is to the right of B.
	 iii.	 Y is facing X and is to the left of A.
	 iv.	 C is to the right of Z.
		  Then who are the two persons sitting adjacent to 

D?
	 (a)	 W and Y
	 (b)	 X and W
	 (c)	 X and Z
	 (d)	 Wand Z
	 46.	 In a certain code, 15789 is written as XTZAL and 

2346 is written as NPSU. How will 23549 be 
written in that code ?

	 (a)	 NPTUL	 (b)	 PNTSL
	 (c)	 NPTSL	 (d)	 NBTSL
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	47-	fuEufyf•r vkÑfr esa yqIr vad Kkr dhft,%

04 05 06

02 03 07

01 08 03

21 98 ?
	 (a)	 94	 (b)	 88

	 (c)	 92	 (d)	 86

	48-	fu.kZ; ysus ds lanHkZ esa ^Úsfeax çHkko* fuEufyf•r esa 
ls fdldk mYys• djrk gS\

	 (a)	 fodYiksa dh çLrqfr dk <+ax] fodYi ds p;u 
dks çHkkfor djrk gS

	 (b)	 ml fodYi dk p;u djuk ftldh çR;kf'kr 
mi;ksfxrk lokZf/d gS

	 (c)	 xyr fn'kk esa fopkjksa ds foU;kl fcanqvksa dk ,d 
çdkj

	 (d)	 mu vk'k;ksa dks <w¡<+uk tks orZeku fo'oklksa dh 
iq"Vh djrs gSa

	 49-	fdlh mPp lalDr lewg ds lnL;ksa ds lekykspukRed 
ewY;kaduijd fu.kZ;u {kerkvksa ds u"V gks tkus dh 
ço`fÙk dgykrh gS

 	 (a)	 lewg lksp	 (b)	 n`<+rkijdrk

	 (c)	 lewg è#ohdj.k	 (d)	 laKkukRed vlaokfnrk

	50-	fu.kZ;u dh og 'kSyh tks ¶lHkh dks çlUu j•us ls 
vR;f/d lEcaf/r gS¸] dgh tkrh gS

	 (a)	 lEçR;;kRed 'kSyh

	 (b)	 funZs'kkRed 'kSyh

	 (c)	 O;ogkjijd 'kSyh

	 (d)	 fo'ys"k.kkRed 'kSyh

	51-	fuEufyf•r esa ls dkSu&lk fu.kZ; ds ifj.kkeksa dh 
lEHkkO;rk ds vuqeku dk fu;e ugha gS\

	 (a)	 mi;ksfxrk dk vkdyu

	 (b)	 çfrfuf/drk

	 (c)	 miyC/rk

	 (d)	 lek;kstu

	52-	oS/ ekud vkdkj ds fujis{k U;k;okD; esa ;fn eq[; 
in fu"d"kZ esa O;kIr gS] rks mls O;kIr gksuk gksxk

	 (a)	 nksuksa vk/kj okD;ksa esa

	 (b)	 veq[; vk/kj okD; esa

	 (c)	 eq[; vk/kj okD; esa

	 (d)	 fdlh Hkh vk/kj okD; esa ugha

	 47.	 Find the missing number in the following figure:

04 05 06

02 03 07

01 08 03

21 98 ?

	 (a)	 94	 (b)	 88
	 (c)	 92	 (d)	 86
	 48.	 Which one of the following refers to the 'framing 

effect' in the context of decision making?
	 (a)	 The way in which options are presented 

influence the selection of option
	 (b)	 Choosing the option having highest expected 

utility
	 (c)	 A kind of set points of thought in wrong 

direction
	 (d)	 Looking for evidences that will confirm what 

are currently believes
	 49.	 The tendency of members in a highly cohesive 

group to lose critical evaluative decision making 
capabilities is called

	 (a)	 Group think
	 (b)	 Assertiveness
	 (c)	 Group polarization
	 (d)	 Cognitive dissonance
	 50.	 The decision making style that "overly concerned 

with keeping everyone happy" is called
	 (a)	 Conceptual style
	 (b)	 Directive style
	 (c)	 Behavioural style
	 (d)	 Analytical style
	 51.	 Which one of the following is NOT a rule for 

estimating the likelihood of outcomes of any 
decision?

	 (a)	 Assessing utility
	 (b)	 Representativeness
	 (c)	 Availability
	 (d)	 Adjustment
	 52.	 In a valid standard form of categorical syllogism, 

if predicate term is distributed in the conclusion, 
then it must be distributed

	 (a)	 in both the premises
 	 (b)	 in minor premises
	 (c)	 in major premises
	 (d)	 in none of the premises
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	53-	çlEHkkO;rk xq.k gS

	 (a)	 vkxeukRed ;qfDr dk

	 (b)	 fuxeukRed ;qfDr dk

 	 (c)	 fo;kstd rdZokD; dk

	 (d)	 fu:ikf/d rdZokD; dk

	54-	fuEufyf•r esa ls fdu fu.kZ;dÙkkZvksa esa leL;kvksa ds 
l̀tukRed lek/ku •kstus dh vPNh çòfÙk ik;h tkrh gS\

	 (a)	 funZs'kkRed 'kSyh ds fu.kZ;dÙkkZvksa esa

	 (b)	 fo'ys"k.kkRed 'kSyh ds fu.kZ;dÙkkZvksa esa

	 (c)	 lEçR;;kRed 'kSyh ds fu.kZ;dÙkkZvksa esa

	 (d)	 O;ogkjijd 'kSyh ds fu.kZ;dÙkkZvksa esa

	 55-	ç'u fpÉ ds LFkku esa dkSu&lh la[;k vk;sxh\

18

40

?

7

172

348

	 (a)	 72	 (b)	 84

	 (c)	 68	 (d)	 66

	56-	;fn 'A'] B dh cgu gS] 'C'] B dh ek¡ gS] 'D'] C 
dk firk gS] 'E'] D dh ek¡ gS] rc A dk D ls D;k 
laca/ gS\

	 (a)	 nknk	 (b)	 iksrh

	 (c)	 nknh	 (d)	 csVh

	57-	;fn vki 1 ls 100 rd dh lHkh la[;k,¡ fy•rs gSa] 
rks vki fdruh ckj 3 fy•rs gSa\

	 (a)	 20	 (b)	 11

	 (c)	 21	 (d)	 10

	58-	'kCnksa ds fo"ke ;qXe dks pqfu;s%

	 (a)	 vk;ru % yhVj	 (b)	 nckc % cSjksehVj

	 (c)	 yEckbZ % ehVj	 (d)	 vojks/ % vkse

	59-	fuEufyf•r dFkuksa dks if<+,%

	 I.	 jek] lksue ls mez esa cM+h gSA

	 II.	 iwue] jek ls mez esa cM+h gSA

	 III.	 lksue] iwue ls mez esa cM+h gSA

	 	;fn igys nksuksa dFku lR; gS] rks rhljk dFku gS

	 (a)	 lR;

	 (b)	 vfuf'pr

	 (c)	 vlR;

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	 53.	 Probability is an attribute of
	 (a)	 An inductive argument
	 (b)	 A deductive argument
	 (c)	 Disjunctive proposition
	 (d)	 Categorical proposition
	 54.	 Which of the following decision makers are tend 

to be good at discovering creative solutions to the 
problems?

	 (a)	 Directive style decision makers
	 (b)	 Analytic style decision makers
	 (d)	 Behavioural style decision makers
	 (c)	 Conceptual style decision makers
	 55.	 What number would come in the place of question 

mark?

18

40

?

7

172

348

	 (a)	 72	 (b)	 84
	 (c)	 68	 (d)	 66
	 56.	 If 'A' is B's sister, 'C' is B's mother, 'D' is C's father, 

'E' is D's mother, then how is A related to D?
	 (a)	 Grandfather	 (b)	 Granddaughter
	 (c)	 Grandmother	 (d)	 Daughter
	 57.	 If you write down all the numbers from 1 to 100, 

then how many times do you write 3?
	 (a)	 20	 (b)	 11
	 (c)	 21	 (d)	 10
	 58.	 Choose the odd pair of words:
	 (a)	 Volume : Litre
	 (b)	 Pressure : Barometer
 	 (c)	 Length : Meter
	 (d)	 Resistance : Ohm
	 59.	 Read the following statements:
	 I.	 Rama is older than Sonam.
	 II.	 Poonam is older than Rama.
	 III.	 Sonam is older than Poonam.
		  If the first two statements are true, then the third 

statement is
	 (a)	 True
	 (b)	 Uncertain
	 (c)	 False
	 (d)	 None of the above.
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	60-	fuEufyf•r  Üka`•yk dks lgh fodYi }kjk iw.kZ dhft,%
	 	3] 2] 6] 8] 18] 40] ?
	 (a)	 70	 (c)	 72

	 (b)	 71	 (d)	 75

	61-	,d nqdkunkj fdlh oLrq dk ewY; mlds Ø; ewY; ls 
20» vf/d vafdr djrk gSA og vafdr ewY; ij dqN 
NwV nsrk gS vkSj 8» ykHk dekrk gSA NwV dh nj gS

	 (a)	 8%	 (c)	 12%

	 (b)	 10%	 (d)	 15%

	62-	;fn '+' dk vFkZ '÷'] '–' dk vFkZ 'X'] 'X' dk vFkZ '+' 
vkSj '÷' dk vFkZ '–' gS] rc 6 ÷ 10 – 4 × 12 + 6 = ?

	 (a)	 – 32	 (b)	 32

	 (c)	 – 41.4	 (d)	 48

	63-	;fn 
x

2 –
y

y
x

= rks 
3 2

3 3
x xy
x y

+
+  dk eku gksxk

	 (a)	 0	 (b)	 ⅔
	 (c)	 ¾	 (d)	 1

	64-	A ,oa B nks leqPp; gSaA A esa 10 lnL; gSa rFkk B 
esa 18 lnL; gSaA A ∪ B = 20] rks A ∩ B esa fdrus 
lnL; gksaxs\

	 (a)	 10	 (b)	 12

	 (c)	 8	 (d)	 6

	65-	fdlh leprqHkZqt ds fod.kZ 32 lseh rFkk 24 lseh gSA 
mldk ifjeki gksxkA

	 (a)	 50 lseh	 (b)	 60 lseh

	 (c)	 70 lseh	 (d)	 80 lseh

	66-	nks pj y ,oa x fuEufyf•r çdkj ls lEcfU/r gS%
	 	y = 5x + 4A ;fn x dk lekukUrj ekè; 10 gS] rks y 

dk lekukUrj ekè; gksxk
	 (a)	 50	 (b)	 54

	 (c)	 29	 (d)	 46

	67-	çFke chl /ukRed le la[;kvksa dk ekè; gSA
	 (a)	 20	 (b)	 18

	 (c)	 17	 (d)	 21

	68-	fuEufyf•r esa ls dkSu&lk lEçs"k.k esa ijkHkkf"k; ladsr gS\
	 (a)	 eq•kÑrh; vfHkO;fDr

	 (b)	 gko&Hkko

	 (c)	 Loj laca/h {ksi.k

	 (d)	 vaxfoU;kl

	69-	fdl çdkj ds lEçs"k.k usVodZ esa lewg ds usrk ds 
mn~Hko dh laHkkouk gksrh gS ysfdu lewg ds lnL;ksa dh 
rqf"V fuEurj gksrh gS\

	 (a)	 pØ çdkj esa	 (b)	 o`Ùkkdkj çdkj esa

	 (c)  	Ük`a•yk çdkj esa	 (d)	 ckf/r çdkj esa

	 60.	 Complete the following series with the correct 
option:

		  3, 2, 6, 8, 18, 40, ?
	 (a)	 70	 (b)	 71
	 (c)	 72	 (d)	 75
	 61.	 A shopkeeper marks the price of an article 20% 

above its cost price. He offers some discount on 
the marked price and gains a profit of 8%. Rate of 
discount is

	 (a)	 8%	 (b)	 10%
	 (c)	 12%	 (d)	 15%
	 62.	 If'+' means '+', ' means 'x', 'x' means '+' and '+' 

means, then 6 + 10 – 4 × 12 + 6 = ?
	 (a)	 –32	 (b)	 32
	 (c)	 –41.4	 (d)	 48

	63. 
x

2 –
y

y
x

= , then the value of 
3 2

3 3
x xy
x y

+
+  is equal to

	 (a)	 0	 (b)	 ⅔
	 (c)	 ¾	 (d)	 1
	 64.	 A and B are two sets. A has 10 members and B has 

18 members. A ∪ B = 20. The number of members 
in A ∩ B will be

	 (a)	 10 	 (b)	 12
	 (c)	 8	 (d)	 6
	 65.	 The diagonals of a rhombus are 32 cm and 24 cm. 

Its perimeter will be
	 (a)	 50 cm	 (b)	 60 cm
	 (c)	 70 cm	 (d)	 80 cm
	 66.	 Two variables y and x are related as y = 5x + 4. 

The arithmetic mean of x is 10. Arithmetic mean 
of y will be

	 (a)	 50	 (b)	 54
	 (c)	 29	 (d)	 46
	 67.	 The mean of first twenty positive even numbers is
	 (a)	 20	 (b)	 18
	 (c)	 17	 (d)	 21
	 68.	 Which one of the following is a paralinguistic cue 

in communication?
	 (a)	 Facial expression	 (b)	 Gesture
	 (c)	 Tonal pitch	 (d)	 Posture
	 69.	 In which type of communication network there is 

likelihood of emergence of a group leader but 
lower satisfaction among the member of the group?

	 (a)	 Wheel type	 (b)	 Circle type
	 (c)	 Chain type	 (d)	 Barred type
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	70-	fuEufyf•r esa ls dkSu&lk ÅèoZeq•h lEçs"k.k esa 
laxBukRed ekSu dk ,d mnkgj.k gS \

	 (a)	 foÑfr	 (b)	 foyEc

	 (c)	 fuLianu	 (d)	 vuqfØ;k dk vHkko

	71-	fuEufyf•r esa ls dkSu&lk ldkjkRed Jo.k dk :i 
ugha gS \

	 (a)	 uSnkfud Jo.k	 (b)	 ijkofrZr Jo.k

	 (c)	 ijkuqHkwfrd Jo.k	 (d)	 fu.kZ;kRed Jo.k

	72-	fuEufyf•r esa ls dkSu&lk 'kksj ls lEcfU/r lEçs"k.k 
esa ck/k ugha gS\

	 (a)	 çR;{k&KkukRed leL;k,¡

	 (b)	 lwpuk vf/Hkkj

	 (c)	 f}d vk|çk:i

	 (d)	 lkaLÑfrd fofHkUurk,¡

	73-	lEçs"k.k çfØ;k esa lans'k :ikUrj.k dh liQyrk dh 
tk¡p dh tk ldrh gS

	 (a)	 dwV ladsru }kjk

	 (b)	 ekè;e }kjk

	 (c)	 çfriqf"V }kjk

	 (d)	 fuf"Ø; foladsru }kjk

	74-	ikj&foHkkxh; lfefr;k¡ :i gSA

	 (a)	 b"Vre lEçs"k.k dk

	 (b)	 ÅèoZxkeh lEçs"k.k dk

 	 (c)	 v/ksxkeh lEçs"k.k dk

	 (d)	 ikf'oZd lEçs"k.k dk

	75-	,d O;fDr fdlh iQksVksxzkiQ dks fn•krs gq, dgrk gSµ 
¶iQksVksxzkiQ esa nf'kZr efgyk esjs Hkkats dh ukuh gSA¸ 
iQksVksxzkiQ dh bl efgyk dk ml O;fDr dh cgu ls 
D;k lEcU/ gS] ftldh vU; dksbZ cgu ugha gS\ og

	 (a)	 ppsjh cgu gS	 (b)	 uun gS

	 (c)	 ek¡ gS	 (d)	 lkl gS

	76-	fuEufyf•r esa ls lgh fodYi dk p;u dhft, %

	 	egklkxj % ç'kkar egklkxj % % }hi\

	 (a)	 xzhuyS.M	 (b)	 vk;jyS.M

	 (c)	 uhnjyS.M	 (d)	 cksfuZ;ks

	 77-	fuEufyf•r dks rkfdZd Øe esa O;ofLFkr dhft;s%

	 1-	 esa<d	 2-	ckt

	 3-	 fVîók	 4-	lk¡i]

	 5-	 ?kkl

 	 (a)	 1] 3] 5] 2] 4	 (b)	 3] 4] 2] 5] 1

	 (c)	 5] 3] 1] 4] 2	 (d)	 5] 3] 4] 2] 1

	 70.	 Which of the following is an example of 
organisational silence in upward communication?

	 (a)	 Distortion	 (b)	 Delay
	 (c)	 Filtering	 (d)	 Lack of response
	 71.	 Which of the following is NOT a form of positive 

listening?
	 (a)	 Diagnostic listening
	 (b)	 Reflective listening
	 (c)	 Empathic listening
	 (d)	 Judgemental listening
	 72.	 Which of the following is NOT a communication 

barrier related to noise? 
	 (a)	 Perceptual problems
 	 (b)	 Information overload
 	 (c)	 Dyadic archetypes
	 (d)	 Cultural differences
	 73.	 In the communication process, successful transfer 

of message can be checked through
	 (a)	 Encoding
	 (b)	 Medium
	 (c)	 Feedback
	 (d)	 Passive decoding
	 74.	 Cross-departmental Committees are the form of 
	 (a)	 Optimum Communication
	 (b)	 Upward Communication
	 (c)	 Downward Communication
	 (d)	 Lateral Communication
	 75.	 Aman pointing to a photograph says-"The lady in 

the photograph is my nephew's matemal grand-
mother". How is the lady in the photograph related 
to the man's sister, who has no other sister? She is

	 (a)	 Cousin	 (b)	 Sister-in-law
	 (c)	 Mother	 (d)	 Mother-in-law
	 76.	 Find the correct alternative from the following:
		  Ocean : Pacific : : Island : ?
	 (a)	 Greenland	 (b)	 Ireland
	 (c)	 Netherland	 (d)	 Borneo
	 77.	 Arrange the following in a logical order:
	 1.	 Frog
	 2.	 Eagle
	 3.	 Grasshopper
	 4.	 Snake
	 5.	 Grass
	 (a)	 1, 3, 5, 2, 4 	 (b)	 3, 4, 2, 5, 1
	 (c)	 5, 3, 1, 4, 2	 (d)	 5, 3, 4, 2, 1
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	78-	,d canj 12 ehVj Å¡ps fpdus •EHks ij p<+rk gSA igys 
feuV esa og 2 ehVj p<+rk gS vkSj vxys feuV esa 1 
ehVj uhps fiQly tkrk gSA bl rjg og fdrus le; 
esa •EHks ds 'kh"kZ ij igq¡p tk;sxk\

	 (a)	 10 feuV	 (b)	 21 feuV
	 (c)	 12 feuV	 (d)	 11 feuV
	79-	fuEufyf•r vkÑfr esa f=kHkqtksa dh la[;k Kkr dhft,%

	 (a)	 12	 (b)	 13 
	 (c)	 14	 (d)	 15
	80-	lwph&I dks lwph&II ls lqesfyr dhft, vkSj lwph ds 

uhps fn, x, dwV ds vk/kj ij vius mÙkj dk pquko 
dhft, %

		  lwph&I		  lwph&II
	 A.	 lHkh euq"; ej.k'khy gSA	 1-	loZO;kih

	 	 	 	 fu"ks/kRed

	 B.	 dksbZ euq"; iw.kZ ugha gSA	 2-	va'kO;kih

	 	 	 	 fu"ks/kRed

	 C.	 dqN fo|kFkhZ cqf¼eku gSA	 3-	loZO;kih

	 	 	 	ldkjkRed

	 D.	 dqN fdlku /uh ugha gSA	 4-	va'kO;kih

	 	 	 	ldkjkRed

	 	dwV %
		  A		  B	 C	 D
	 (a)	 1		  3	 4	 2
	 (b)	 2		  4	 1	 3
	 (c)	 4		  1	 3	 2
	 (d)	 3		  1	 4	 2

	81-	fdlh leL;k dh fLFkfr esa iwoZ esa lkeuk dh x;h 
leL;k ls lekurk ds vk/kj ij fu.kZ; dh çfØ;k dks 
dgrs gSa

	 (a)	 vkJ;.k Lo'kks/

	 (b)	 çfrfuf/drk dk Lo'kks/

	 (c)	 vfHk;kstu Lo'kks/

	 (d)	 miyC/rk

	82-	fuEufyf•r esa ls dkSu&lk leL;k lek/ku esa dHkh&dHkh 
ck/k mRiUu djrk gS\

	 (a)	 Lo'kks/	 (b)	 ekufld foU;kl

	 (c)	 lkn`';rk	 (d)	 ,YxksfjFe

	 78.	 Amonkey climbs a 12 meters high slippery pillar. 
In his first minute, he climbs 2 meters and in the 
next minute, he slips one meter down. In this way, 
how much time will he take to reach the top of the 
pillar?

	 (a)	 10 minutes	 (b)	 21 minutes
	 (c)	 12 minutes	 (d)	 11 minutes
	 79.	 Find the number of triangles in the following 

figure:

	 (a)	 12	 (b)	 13
	 (c)	 14	 (d)	 15
	 80.	 Match the List-I with the List-II and select the 

correct answer using the codes given below the 
list:

		  List-I		  List-II
	 A.	 All men are mortal.	 1.	 Universal negative
	 B.	 No man are perfect.	 2.	 Particular negative
	 C.	 Some students	 3.	 Universal
		  are intelligent.		  affirmative
	 D.	 Some farmers	 4.	 Particular
		  are not rich.		  affirmative
		  Codes:
		  A		  B	 C	 D
	 (a)	 1		  3	 4	 2

	 (b)	 2		  4	 1	 3

	 (c)	 4		  1	 3	 2

	 (d)	 3		  1	 4	 2

	 81.	 The process of judging some problem situation on 
the basis of its similarity with one encountered 
earlier, is known as

	 (a)	 Anchoring heuristics
	 (b)	 Heuristics of representativeness
	 (c)	 Adjustment heuristics
	 (d)	 Availability
	 82.	 Which one of the following sometimes hinders the 

problem solving?
	 (a)	 Heuristics	 (b)	 Mental set
	 (c)	 Analogy	 (d)	 Algorithms
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	83-	fuEufyf•r fu.kZ;u 'kSyh esa ls fdlesa yEck le; 
yxrk gS\

	 (a)	 fo'ys"k.kkRed 'kSyh

	 (b)	 O;ogkjijd 'kSyh

	 (c)	 funZs'kkRed 'kSyh

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	84-	,d o`Ùk fp=k esa fofHkUu o`Ùk•.Mksa dk vuqikr lekuqikrh 
gksrk gS

	 (a)	 o`Ùk•.Mksa ds ifjekiksa ds

	 (b)	 o`Ùk•.Mksa ds dks.kksa ds

	 (c)	 o`Ùk•.Mksa ds {ks=kiQy ds

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	85-	çs{k.kksa 10, 11, 16, 17, 12, 13, 17, 16, 16, 12, 16, 10, 
15, 16, 10 dk cgqyd gS

	 (a)	 13
	 (b)	 15
	 (c)	 16

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	86-	fdlds fujkdj.k esa ^ifjHkk"kk* dh çeq• mi;ksfxrk gS\ 

	 (a)	 rkfdZd vkdkj ds

	 (b)	 O;kdj.k ds fu;e ds

	 (c)	 vFkZ ds

	 (d)	 lafnX/rk ds

	87-	fdlh oS/ ekud vkdkj dk fujis{k U;k;okD; fu"d"kZ 
fof'k"V gks ,oa nksuksa vk/kj okD; loZO;kih gks] rks mlesa 
rdZnks"k fufgr gksxk

	 (a)	 vfu;fer eq[; in	 (b)	 lÙkkRed rdZnks"k

	 (c)	 vfu;fer veq[; in	 (d)	 vO;kIr eè;e

	88-	fuEufyf•r  Ük`a•yk 60, 180, 90, 270, ?, 405 esa yqIr 
la[;k (?) gS

	 (a)	 675	 (b)	 540

	 (c)	 360	 (d)	 135

	89-	firk dh vk;q mlds nks iq=kksa dh vk;q ds ;ksx dh nqxquh 
gSA 20 o"kZ i'pkr~ firk dh vk;q nksuksa iq=kksa ds vk;q 
ds ;ksx ds cjkcj gks tk;sxhA firk dh orZeku vk;q gS

	 (a)	 40 o"kZ	 (b)	 60 o"kZ

	 (c)	 30 o"kZ	 (d)	 50 o"kZ

	90-	fuEufyf•r dwV ladsrksa esa ls lgh fodYi }kjk vuqØe 
dks iw.kZ dhft,%

		  EGIK : FILO : : FHJL : ?
	 (a)	 JGMP	 (b)	 JGPM

	 (c)	 GJPM	 (d)	 GJMP

	 83.	 Which of the following decision making style takes 
longer time?

	 (a)	 Analytical style
	 (c)	 Directive style
	 (b)	 Behavioural style
	 (d)	 None of the above
	 84.	 The proportion of various sectors in a pie chart is 

directly proportional to
	 (a)	 Perimeter of sectors
 	 (b)	 Angle of sectors
	 (c)	 Area of sectors
	 (d)	 None of the above
	 85.	 Mode of the observations 10, 11, 16, 17, 12, 13, 

17, 16, 16, 12, 16, 10, 15, 16, 10 is
	 (a)	 13
	 (b)	 15
	 (c)	 16
	 (d)	 None of the above
	 86.	 The principal use of 'definition' is to eliminate
	 (a)	 Logical forms
	 (b)	 Rules of grammar
	 (c)	 Meaning
	 (d)	 Ambiguity
	 87.	 Any valid standard form of categorical syllogism 

with a particular conclusion and two universal 
premises will commit the fallacy of

	 (a)	 Illicit major
	 (b)	 Existential fallacy
	 (c)	 Illicit minor
	 (d)	 Undistributed middle
	 88.	 The missing number (?) in the following series:
		  60, 180, 90, 270, ?, 405 is
	 (a)	 675	 (b)	 540
	 (c)	 360	 (d)	 135
	 89.	 The age of father is twice that the sum of ages of 

his two sons. 20 years later, the age of father will 
become the sum of ages of his two sons. The 
present age of father is

	 (a)	 40 years	 (b)	 60 years
	 (c)	 30 years	 (d)	 50 years
	 90.	 Complete the sequence with the correct option 

from the following codes:
		  EGIK : FILO : : FHJL : ?
	 (a)	 JGMP	 (b)	 JGPM
	 (c)	 GJPM	 (d)	 GJMP
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	 91.	 How many 4's are there in the following which are 
preceded by 7 but NOT followed by 3? 5 9 3 2 1 
7 4 2 6 9 7 4 6 1 3 2 8 7 4 1 3 8 3 2 5 6 7 4 3 9 5 8 
2 0 1 8 7 4 6 3

	 (a)	 Four	 (b)	 Three
	 (c)	 Six	 (d)	 Five
	 92.	 In a row of boys, if A who is 10th from the left and 

B who is 9th from the right, interchange their 
positions, A becomes 15th from the left. How many 
boys are there in the row?

	 (a)	 24	 (b)	 31
	 (c)	 23	 (d)	 28
	 93.	 Arrange the words given below in a meaningful 

sequence:
	 1.	 Presentation	 2.	 Recommendation
	 3.	 Arrival	 4.	 Discussion
	 5.	 Introduction
	 (a)	 3, 5, 1, 4, 2	 (b)	 5, 3, 4, 1, 2
	 (c)	 3, 5, 4, 2, 1	 (d)	 5, 3, 1, 2, 4
	 94.	 3 men or 7 women finish a work in 32 days. 7 men 

and 5 women together will finish the twice of this 
work in

	 (a)	 19 days
	 (b)	 21 days
	 (c)	 27 days
	 (d)	 36 days
	 95.	 Two trains of length 127 mt. and 98 mt. are moving 

in opposite directions with speed 35 km/hr and 55 
km/hr respectively. After meeting they will cross 
each other in

	 (a)	 6 seconds
	 (b)	 8 seconds
	 (c)	 9 seconds
	 (d)	 10 seconds
	 96.	 If x3 + y3 = 35 and xy = 6, x > y, then value of 

(x–y) will be
	 (a)	 1
	 (b)	 2
	 (c)	 3
	 (d)	 None of the above
	 97.	 If (x – 1) and (x + 1) are two factors of the 

polynomial x6 – 1, then its other factors are
	 (a)	 (x2 + 1), (x2 + x + 1)
	 (b)	 (x2 + 1), (x2 – x – 1)
	 (c)	 (x2 – x + 1), (x2 + x + 1)
	 (d)	 (x2 – x – 1 ), ( x2 + x – 1)

	91-	fuEufyf•r esa fdrus ,sls 4 gSa ftuds igys 7 gS] 
ysfdu ckn esa 3 ugha gS\

	 	5 9 3 2 1 7 4 2 6 9 7 4 6 1 3 2 8 7 4 1 3 8 3 2 5 6 7 4 
3 9 5 8 2 0 1 8 7 4 6 3

	 (a)	 pkj	 (b)	 rhu

	 (c)	 N%	 (d)	 ik¡p

	92-	yM+dksa dh ,d iafDr esa ;fn A] ckbZa vksj ls 10osa 
LFkku ij gS vkSj B nkbZa vksj ls 9 osa LFkku ij gS] ;fn 
nksuksa vius LFkku dks vkil esa cny ysrs gSa] rks A ckbZa 
vksj ls 15osa LFkku ij gks tkrk gSA iafDr esa dqy fdrus 
yM+ds gSa\

	 (a)	 24	 (b)	 31

	 (c)	 23	 (d)	 28

	93-	uhps fn, x;s 'kCnksa dks lkFkZd Øe esa O;ofLFkr dhft,%
	 1-	 çLrqfr	 2-	laLrqfr

	 3-	 vkxeu	 4-	ppkZ

	 5-	 ifjp;-
	 (a)	 3, 5, 1, 4, 2
	 (b)	 5, 3, 4, 1, 2
	 (c)	 3, 5, 4, 2, 1

	 (d)	 5, 3, 1, 2, 4

	94-	3 vkneh ;k 7 vkSjrsa ,d dk;Z dks 32 fnu esa iwjk dj 
ysrs gSaA 7 vkneh vkSj 5 vkSjrsa feydj mlds nqxqus 
dk;Z dks iwjk djsaxs

	 (a)	 19 fnuksa esa	 (b)	 21 fnuksa esa

	 (c)	 27 fnuksa esa	 (d)	 36 fnuksa esa

	 95-	127 ehVj vkSj 98 ehVj yEch nks jsyxkfM+;k¡ foijhr 
fn'kkvksa esa Øekuqlkj 35 fd-eh-@?kaVk rFkk 55 fd-eh-
@?kaVk dh pky tk jgh gSA feyus ds fdrus le; ckn 
os ,d&nwljs dks ikj dj tk;saxh\

	 (a)	 6 lsds.M	 (b)	 8 lsds.M

	 (c)	 9 lsds.M	 (d)	 10 lsds.M

	96-	;fn x3 + y3 = 35 vkSj xy = 6, × > y, rks (x – y) dk 
eku gksxk

	 (a)	 1

	 (b)	 2

	 (c)	 3

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	97-	;fn cgqin x6 – 1 ds nks xq.ku•.M (x – 1) ,oa 	
(x + 1) gS] rks mlds vU; xq.ku•.M gS

	 (a)	 (x2 + 1), (x2 + x + 1)
	 (b)	 (x2 + 1), (x2 – x – 1)
	 (c)	 (x2 – x + 1), (x2 + x + 1)

	 (d)	 (x2 – x – 1 ), ( x2 + x – 1)
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	 98.	 A rectangular field is 112 mt. long and 62 mt. broad. 
A cubical tank of edge 6 mt. is dug at each of the 
four corners of the field and the soil so removed is 
evenly spread on the remaining field. Find the rise 
in the level of the field.

	 (a)	 13.13 cm
	 (b)	 11.9 cm
	 (c)	 12.7 cm
	 (d)	 14.24 cm
	 99.	 The radius of a solid sphere of a metal is 3 cm. 

How long wire of diameter 4 mm can be drawn 
from it?

	 (a)	 8.8 mt.
	 (b)	 9.0 mt.
	 (c)	 9.6 mt.
	 (d)	 9.1 mt.
	100.	 Seventeen candidates appeared in an examination. 

The marks of the candidates who failed in the 
examination are 10, 9, 6, 7, 8, 8, 7, 5, 4, 6. The 
median of marks of all seventeen candidates is

	 (a)	 6
	 (b)	 7
	 (c)	 9
	 (d)	 None of the above

	98-	,d vk;rkdkj •sr dh yackbZ 112 eh- rFkk pkSM+kbZ 62 
eh- gSA 6 eh- fdukjs dk ,d ?kukdkj VSad •sr ds pkjksa 
dksuksa ij •ksns x, vkSj tks feêðh gVkbZ x;h mls cps 
•sr ij lery fcNk fn;k x;k A •sr ds Lrj esa c<+r 
gqvk

	 (a)	 13.13 lseh	 (b)	 11.9 lseh

	 (c)	 12.7 lseh	 (d)	 14.24 lseh

	99-	fdlh /krq ds ,d Bksl xksys dh f=kT;k 3 lseh gSA 
blls 4 feeh O;kl dk fdruk yack rkj •hapk tk 
ldrk gS\

	 (a)	 8-8 ehVj

	 (b)	 9-0 ehVj

	 (c)	 9-6 ehVj

	 (d)	 9-1 ehVj

	100-	l=kg vH;FkhZ fdlh ijh{kk esa lfEefyr gq;sA tks vH;FkhZ 
ijh{kk esa vliQy gq;s muds çkIrkad 10, 9, 6, 7, 8, 8, 
7, 5, 4, 6 gSA lHkh l=kg vH;fFkZ;ksa ds çkIrkad dh 
ekfè;dk gS

	 (a)	 6

	 (b)	 7

	 (c)	 9

	 (d)	 mi;ZqDr esa ls dksbZ ugha


